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Guess Paper – 2010
Class – XII
Subject –  Economics

SECTION-A

Q1 What is meant by market equilibrium?

Q2 How is MC derived from TVC?
Q3 A linear supply curve cuts y-axis (price axis).What can you say about elasticity of supply?

Q4 Define marginal rate of substitution.

Q5 In which market form the average and marginal revenue of a firm always equal?

Q6 What is meant by consumer’s equilibrium?What does the slope of budet line show?

Q7 What change in total revenue will result in

(i) A decrease in marginal revenue.

(ii) An increase in marginal revenue.

                                         OR

Define total product and marginal product. What happens to the marginal products when the products is declining?

  Q8 A consumer buys 70 units of a commodity at a price of Rs.7 per unit. When price fails to Rs 6 per unit, he buys 90 units. Use total outlay method to find whether the demand for the commodity is elastic or inelastic.
 Q9 Explain the central problem of “for which to produce?

 Q10 How does an increase in the rate of excise duty shift the supply curve and why?

Q11 Define market. Under perfect competition the firm is a price taker, under monopoly he is the price maker. Explain.

Q12 Define elasticity of supply. How can it be measured using geometric method?

Q13 Given the fixed cost is Rs 12; calculate TVC, TC and AVC from the following;

               Output (units):  1               2       3          4          5             6

                 MC (Rs)       :   9             7       2          4           8           12

Q14 Explain what happens to the profits in the long run ,if the firms are free to enter the industry? 

                                                    Or

       Explain what happens to the losses in the long run,if the firms are free to enter the industry?

Q15 Explain three causes each for a rightward shift and a leftward shift of a demand curve.

Q16 The following table shows the total cost schedule of a competitive firm.Price being Rs10.Calculate total profir at each level of output.Find the profit maximizing level of output.

          Output(units):0      1       2      3       4         5        6       7       8         9        10
            TC(Rs)       : 5     15     22    27     31      38      49      63     81       101    123
                                       Section-B
Q17 Why is interest received is termed as revenue receipts.

Q18.WITH AN INCREASE IN INVESTMENT  by rs. 100crore national income of a country increase by rs 250 crore.find out the marginal propensity to consume.

Q19 What does zero primary deficit mean?

Q20 What is ment by statutory liquidity?

Q21 How does excess demand affect output and price?

Q22 Explain the standard of demand payments function of money.

Q23 Explain the concept of budgetary deficit and fiscal deficit alongwith their implications.

Q24 Explain the value added method of calculating national income.

                                   Or

 calculate net value added at factor cost from the following data:

        items                                                                                                         rs (in lacs)

i) Sales                                                                                                                    800

ii) Purchase of machines (for installation in factory)                                              500

iii) Purchase of raw materials                                                                                  450

iv) Subsidies                                                                                                              50

v) Consumption of fixed capital                                                                                 60

vi)wages and salaries                                                                                                200

vii)change in stock                                                                                                      40

Q25 Why does a rise in foreign exchange cause a rise in its supply?

Q26 Classify the following receipts into revenue receipts and capital receipts.Give reasons for your answer

(i) Recovery of loans 

(ii) Interest received on loans

(iii) Dividend received from enterprises

(iv) Grants from foreign governments.

Q27 How does bank rate or open market operations help in expanding or contracting credit in an economy?

Q28 Balance of payments always balances.Discuss
Q29 Explain  and geographically represent the concept of inflationary gap.

        Explain any one measure of removing the gap.

Q30 Explain the componenats of domestic income.

                                   Or

       Giving reasons,explain how the following are treated while estimating national income.

(i) Payments of fees to a lawyer engaged by a firm.

(ii) Rent free house to an employee by an employer

(iii) Purchase by foreign tourists

(iv) Purchase of a truck to carry goods by a production unit.

(v) Payments of income tax by a production unit.

(vi) Services rendered by family members to each other.

Q31(a)when mpc is 0.2 how much new investment is required to make the national income                       

           rise by rs .600 crore?calculate

     (b)In an economy c=1000+0.5y and I=2000 Calculate

           (i)equilibrium level of income

           (ii)level of savings at equilibrium level of income

Q32.From the data given below ,calculate national income by (i)income method

        (ii)expenditure method

     Items                                                                                            rs (in crores) 
(i) govt. final consumption expenditure                                                     7341

(ii) Indirect taxes                                                                                         8834

(iii) Gross fixed capital formation                                                         13,248

(iv) Mixed income of the self employed                                                29267

(v) Subsidies                                                                                             1,120

(vi) Change in stocks                                                                                 3,170

(vii) Operating surplus                                                                               9637

(viii) Consumption of fixed capital                                                            4,046

(ix) Private final consumption expenditure                                             51,177

(x)exports of goods and services                                                                4,812

(xi)net factor income from abroad                                                                -255

(xii)compensation of employees                                                               23,420

(xiii)imports of goods and services                                                             5,664
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